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#define Sensor_SCLC _pfc3
#define Sensor_SDAC _pfc2
#define Sensor_SCL _pf3
#define Sensor_ SDA  _pf2
#define Sensor_SDAPU _pfpu2
#define LED_port _phO
#define LED_portC _phcO

void 12C_START(void);

void 12C_STOP(void);

void send_ACK(void);

void send_NON_ACK(void);
_Bool CheckACK(void);
void WriteByte(u8);

u8 ReadByte(void);
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void Sensor_write_command(u8 slave_ID);
void Sensor_Read_Operation(u8 slave_ID);

void Sensor_WakeUp (u8 slave_ID);

void RH_Module_CheckSum(u8 *Buff,u8 Len);

u8 Sensor_Read_Byte(void);
void Delayms(ul6);

u8 CheckSum_MSB, CheckSum_LSB;
u8 RH_MSB, RH_LSB, TS_MSB, TS_LSB;
ulée Temp, Hum;

extern u8 Sensor_buffer[10];
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/********************************************************************

**/
void main()

{

/********************************************************************

**/
_wdtc=0b10101111; LED_portC=0;

LED_port=0; //Sensor_SDAPU=1;

/********************************************************************

**/



while(1)

{
Sensor_WakeUp(0xB8); /[ i
Sensor_write_command(0xB8); //5 %
Delayms(2);
Sensor_Read_Operation(0xB8);  //1#4E
Delayms(2000); //3EIR 2s
}
}
/********************************************************************
**/
void [2C_START(void)
{
Sensor_SCL=0; Sensor_SDA=1;
Sensor_SCLC=0; Sensor_SDAC=0;
Sensor_SCL=1; GCC_DELAY(36);
Sensor_SDA=0; GCC_DELAY(36);
Sensor_SCL=0;
}
void [2C_STOP(void)
{
Sensor_SDA=0; Sensor_SDAC=0;
GCC_DELAY(36);
Sensor_SCL=1; GCC_DELAY(36);
Sensor_SDA=1; GCC_DELAY(36);
//Sensor_SCL=0;
}
void send_ACK(void)
{
Sensor_SDA=0; Sensor_SDAC=0;
GCC_DELAY(36);
Sensor_SCL=1; GCC_DELAY(36);
Sensor_SCL=0; GCC_DELAY(36);
Sensor_SDAC=1;
}

void send_NON_ACK(void)
{



Sensor_SDA=1; Sensor_SDAC=0;
GCC_DELAY(36);
Sensor_SCL=1; GCC_DELAY(36);
Sensor_SCL=0; GCC_DELAY(36);
}
_Bool CheckACK(void)
{
u8 i=200;
Sensor_SDAC=1;
GCC_DELAY(36);
Sensor_SCL=1;
GCC_DELAY(36);
while(i--)
{
if(!Sensor_SDA) { Sensor_SCL=0; return 1;}
GCC_DELAY(200);
}
Sensor_SCL=0;
return O;

}
void WriteByte(u8 12CData)

{

u8 temp=0b10000000;

Sensor_SDAC=0;

while (temp!=0)

{
Sensor_SDA=(I2CData & temp)?1:0;
Sensor_SCL=1; GCC_DELAY(36);
Sensor_SCL=0; GCC_DELAY(36);
temp>>=1;

u8 ReadByte(void)

{
u8 retval=0, temp=0b10000000;
Sensor_SDAC=1;
while (temp!=0)



Sensor_SCL=1; GCC_DELAY(100);
if(Sensor_SDA) retval |=temp;
Sensor_SCL=0; GCC_DELAY(100);
temp>>=1;

}

return retval;

u8 Sensor_Read_Byte(void)
{
u8 cnt; u8 data;
for(cnt=0; cnt<8; cnt++)
{
data=data<<1;
Sensor_SCL=1;
GCC_DELAY(100);
if(Sensor_SDA)
{
data |=0x01;
}
Sensor_SCL=0;
GCC_DELAY(100);
}

return data;

}
void Sensor_WakeUp (u8 slave_ID)

{
u8 DevicelD=((slave_ID/2)<<1);
12C_START(); //NC EIGE S
WriteByte(DevicelD|0); ///Ki% CHTA30 IIC Hitik+5
send_NON_ACK();
Delayms(1);
12C_STOP(); /NCiE b5

}

void Sensor_write_command (u8 slave_ID)

{
u8 DevicelD=((slave_ID/2)<<1);



12C_START(); //IC EH1E S
WriteByte(DevicelD|0);

if(CheckACK())

{
WriteByte(0x03);
CheckACK();
WriteByte(0x00);
CheckACK();
WriteByte(0x04);
CheckACK();
12C_STOP();

}

else

{
LED_port=1;
I2C_STOP();

}

void Sensor_Read_Operation(u8 slave_ID)

{

u8 Sensor_buffer[10];
u8 DevicelD=((slave_ID/2)<<1);

I2C_START();

WriteByte(DevicelD|1);
if(CheckACK())

{
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Sensor_buffer[0]=Sensor_Read_Byte();//5 N\ ¥

send_ACK();
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Sensor_buffer[1]=Sensor_Read_Byte();//5 N\ ¥

send_ACK();
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Sensor_buffer[2]=Sensor_Read_Byte();//5 N\ ¥

send_ACK();
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Sensor_buffer[3]=Sensor_Read_Byte();//5 N\ ¥

send_ACK();

[IRIERLEAE S

Sensor_buffer[4]=Sensor_Read_Byte();//5 N\ ¥

send_ACK();

[P RIERLEAE S



Sensor_buffer[5]=Sensor_Read_Byte();//5 N&#E

send_ACK(); [/ RIENEAE T
Sensor_buffer[6]=Sensor_Read_Byte();//5 N\ ¥
send_ACK(); [IRIENEAT 5

Sensor_buffer[7]=Sensor_Read_Byte();//5 N £ 4
send_NON_ACK();
12C_STOP(); AR RS
RH_Module_CheckSum(&Sensor_buffer[0],6);
if((CheckSum_LSB == Sensor_buffer[6]) && (CheckSum_MSB ==
Sensor_buffer[7]))
{
RH_MSB = Sensor_buffer[2];
RH_LSB = Sensor_buffer[3];
TS_MSB = Sensor_buffer[4];
TS_LSB = Sensor_buffer[5];
Temp=(((TS_MSB)<<8)+TS_LSB);
Hum=(((RH_MSB)<<8)+RH_LSB);
GCC_NOP();

else

LED_port=1;
12C_STOP(); AR ER=

void RH_Module_CheckSum(u8 *Buff,u8 Len)
{
unsigned short a_temp_crc = OXFFFF;
unsigned char i;
while(Len--)
{
a_temp_crc "= *Buff++;
for(i=0;i<8;i++)

{



if(a_temp_crc & 0x01)

{
a_temp_crc >>=1;
a_temp_crc A= 0xA001;
}
else
{
a_temp_crc >>=1;
}

}
CheckSum_LSB = a_temp_crc & OxOO0FF;

CheckSum_MSB = (a_temp_crc & OxFF0O0) >> 8;

void Delayms(ul6 del)
{
ulé6i;
for(i=0;i<del;i++) GCC_DELAY(2000);



